6/H-16 (viii) (Syllabus-2015)

2019
( April )

ECONOMICS

( Honours )

( Development and Environmental Economics )

1.

2.

Marks : 75
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer five questions, taking at least one
from each Unit

UNIT—I

What is per capita income? Define Physical
Quality of Life Index (PQLI) and show how
PQLI has been able to comprehensively
measure economic development. 3+2+10=15

What do you understand by gender related
development index? Review the inter-
linkages between population and economic
development. 7+8=15
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(2) ( 3)

8. (a) Explain briefly the property right

UNIT—II '
approach to environmental problem. 7
3. Distinguish between balanced and ‘ (b) Write a note on environmental use and
unbalanced growth. Which of the two would . environmental disruption as an
you prefer as a strategy of development for a allocation problem. 8

developing country like India and why?
10+5=15
* % X

4. Critically examine Karl Marx’s theory of

economic development. 15

UNIT—III

5. Explain briefly the labour intensive and
capital intensive techniques of production.
Which of the two do you think is suitable for
a country like India? Give reasons. 4+4+7=15

6. What are the different types of investment
criteria for economic development? Logically
explain the need for an investment criterion
in LDCs. 8+7=15

UNIT—IV

7. Explain what you understand by
environmental pollution. Discuss the
effective measures to control the
environmental pollution in a developing

country like India. 7+8=15
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6/H-16 (vii) (Syllabus-2015)

2019
(April)"“

ECONOMICS

( Honours )

({ Sl;aﬁStics )

Marks : 75°° '

L 'I‘ime:3ho_urs.

for the questions -
Ansvyé:_ five vc';ﬁésiiqns', taking at least one
' ' from each Unit ~ '~

S unit—1

1. {a) The following table giYGS _the frequency
distribution of monthly income (in
‘thousand rupees) of "employees of a
business unit with one of the figures
missing :

Income . 0-10 1 0-',-20 20-30' 30-40 40-50

Frequency : 5 - 15 16 6
Given that the aﬁthmetic mean is 27.
Find the missing frequency.: 6
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following datq
E Marks
e
40-50" v
50-60 63
60-70 s
. 70-80 30
8090 6

20 (a) Dis . . °
: sis 1sh between skewness and

. (b) The fou . ‘
L O owing re .
a dlstnbun on : Sults are obtained from
g:m = 45, median = 48 and
Fing flicient of skewness = —0-4
"\ the value of standard deviation with

() .Findhelp of the available information.
ar Skewnet:se az_l;mpﬁate measure  of
'di_sﬁ-ibuﬁo“ _om the following -
;‘%
“ in
' WE”M of employees
20-25 13
_25.30 29
‘30-35 46
4045 112
55 45-55 _ 94
% 45
— 21 i

[ Co

3.

(3)

UNIT—II

(@) Ifr=0-28, covariance of Xand Y=7-6,

variance of X =9, then find the standard
deviation of Y (r is the correlation

coefficient of X and Y). 5
(p) In an examination, thg marks obtained

by 10 students in statistics and

economics are given below :

Students

A|B|C|D|E|F|G|H )| I ]|J

Marks in

6 86 | 58
Statistics s51191]160| 68| 62| 86 53147 | 84
Marks in
Economics

78 | 36 1981251758290 |62|65]| 39

Calculate rank correlation coefficient. 10

4. Find the regression coefficients of Y on Xand

D9/1731

X on Y from the following data :

X : 8 9 10 10 11 13 14 16

Yy : 4 6 8 12 13 15 17 28

Also find the regression equation of Yon X

and estimate the value of Y, when X =12.
! 8+5+2=15

UNIT—III

5. (a) Discuss the various problems in the

construction of index numbers. 7
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(S)
(4)

| UNIT—IV
(b) Calculate the price index for the years

2011, 2012 and 2013 by using the | 7. (a) In a lottery, there are 4 prizes and 96

simple aggregative method (taking 2010 - plank slips. If a person holds one t}cket,
as base year) from the following data ’/' what is the chance of him getting a .
Price in ¥ per unit prize? o
Commodity 2010 2011 P 2012 __——2-5_}_3: ) Find the mean and standard deviation
2 2050 22:00 24-50 2850 4 ; o of binomial distribution. 12
B 16:00 1850 23-00 __2_5—50/ | : .
c 1200 19-00 2100 | 2400 4 Jain any five of the following : 3x5=15
D 1550 | 2100 2400 | 2700 { 8 Exp .
E 3200 3550 3700 | 4300 4 (@) Advantages of samp
F 22-50 26:00 31-50 _:_322/ method
6. (@ What are the components of time (b) Sampling ex:ror -
Series? Explain them. e (c Interval estimation
) Fin.d the trend values for the following ' (d) Power of the test
s of observations using Moving (e) Cluster sampling
Average Methoq - ‘ .
e T ' () Purposive sampling
_Ye* Sales (in crore ¥) ‘
2001 53 i '
2002 79 ke
2003 76
2004 66
2005 69
2006 04
2007 05
2008 a7
2009 79
o 104
011 )
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